MAT 011, Multiplying Polynomials, Part 1 (5.3)

1.

Multiply.

a.

—4n3 - 7n7

- 23n"

b. (2x)(—3x2)(4x5)

C.

d.

B4
- 24 %

—2a(a + 4)

~20.*

-~

—y(4x3 — 7x%y + xy? + 3y%)

~HRY I -yt

2. Use the FOIL method to multiply.

3.

a.

(x +4)(x +3)
X* 4 pt3ntiy 2

XE + e 12

b. (a+7)(a-2)

At ~26. % ta~ Y=

a* +Soa=\4
e (x+3)(x~3)
Xr=hxt Bx-g -

X> +3A-F
d (Bx2+1)Ux%2+7)

|28 ¢ 2yt + 4x-t7 =
[ + 2Sy-+F

Explain the difference between 4y2(— yz)

kcuu.‘{\,

and 4y? — y2,

Name

f. 3x(2x +
bx?+)

g 4x(5x? —

2083 =2

h. %xz(Bx2 -

Myt -

e. (2y — 4)?
4y-¥

f. (4x — 3)(3
2% =24
|2 -2

g (x2 + 4)?

x—1

'%Y

-5)

+ e

VlM‘L

0)

¥ =Y4oy

6x +1)

= Qy-4d(v-4)

+o = Yy-ley +lo

x=9xtiSe
YIS

= (e 4) (6 +4)
X+ ot



4. Multiply.
a. (x—2)(x*-3x+7) d. (2a - 3)(Ba? — 6a + 4)
X5 BR"HFX -2 bx =M 190 1262 g0 48 2% 3180 —12
X2 —Sp*+ (3414 100 ~da®+ 20 —12
b. (x+2)3 | e.(y—1)*
(X +z)0<r'z)(;m,) 2 | (Y= (v =0 -.-(y-\)(\(l -2+ =
(xx2)(R@ ety = | Y2y -yR ey~ =
SARRA AL M IEW ST
X tex® +2x+8

c. (x%+45x—7)(2x%2—7x—9) | f. (a® + 3a

224 = K> ~Gx*+ [0x - 3542 22" - 547
~4sx - MUK 0D =
2xt 4 3n3-58r¥ i + 63

2)(2a2 ~5a-1)
ol +ba3 150 -3 - Yot 10 ¥ 2
202 4+ a3 2002 +3a t2

5. Find the area of the rectangle.

2x+5
(2%t S)(1x-8)= i | _
LUy*-18 ‘ i . ? .3 2x—5
‘ : 4 _
|
| I
6. Find the area of the triangle. (4 = %bh) :
1
< () (3x2)> 2x (3¢-2) - :
]
4x
lo¥* - 4 x ! !
:
X+ 4 3x -2
7i Find the area of the square.
( rad)0crd)= K x Barlp
|
|




8. Simplify each expression by performing the indicated operation.
a. (3x — 1)(10x — 6) eﬁhzzﬁszzﬂ[3;-01-(mx~b)
30x* - 1% ~loX+b 122 A

30x* - 28 %+

b. (2x—1)—(10x—7) f. (2x — 1)(40x — 7)
2p~1=~lox +3 20%* - ﬂ«x-\on +3
—8¥x+hb

20%*F24% +7

c. 2(x+4) ‘ g (x +4)?
2X4R XE+ 8t

d. (a+b)a—-h) h. (2x + 3y){2x — 3y)
ar-b" 4x*-ay*

9. Find the value of each of the following expressions and compare.
|
a. (2+3)% vs.22 432

5228 HA4q=1(}

b. (8+10)? vs. 82 + 102
’%'&- = 3L"{ L’Oq 1100 F Y

c. (6—2)% vs. 52422 ys, 52_722

229 25+4=29  25-4= 2|

d. What can you say about (x + y)? and x% + y? in general?| [Hint: are they always equal?]

Mwmf%wl.




